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CUET UG 2023 Physics Question Papers

Question Number : 136 Question Id : 48558435901 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Choose the correct statement:
Three charges 2q. —q. —q are located at the vertices of an equilateral triangle. At the centroid:

1. the field is zero but the potential is non-zero
2. potential is zero but the field is non-zero
3. both field and potential are zero

4. both field and potential are non-zero

Options :

485584143601. 1
485584143602. 2
485584143603. 3
485584143604. 4
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e AN ATy h . L AN AN 2 I 4 42 la nld -
No-Calcutator—Nome Response Time - N A Think Timre - NA-Minmimumm Instructiomr Time 0

Correct Marks 5 Wrong Marks: 1
Question Key Details :

Key Value
Comprehension MCQ
e YU BT T0F BIfIT:

F AR 2q, ~q AR —q TP JAEE By & W R smR@ € | Bye & v R
1. faqa &7 g 8 g fawa =t &
2. fva < g g fgga A g TR G |
3. fagga &7 iR fua ST I T ©)
4. foggd & SR fE Al R g T B

Options :

485584143601. 1
485584143602. 2
485584143603. 3
485584143604. 4

Question Number : 137 Question Id : 48558435902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




The electric charges are distributed in a small volume. The flux of the electric field through a sphere of radius
10 em surrounding the total charge 15 20 Vm. The flux over a concentric sphere of radius 20 cm will be:

1. 20 Vm

| ]

.25 Vm

.40 Vm

%]

4,200 Vm

Options :

485584143605. 1
485584143606. 2
485584143607. 3
485584143608. 4

Question Number : 137 Question Id : 48558435902 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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4,200 Vm

Options :

485584143605. 1
485584143606. 2
485584143607. 3
485584143608. 4

Question Number : 138 Question Id : 48558435903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




A conducting sphere of radius R 1s given a charge Q. What 1s the electric field and the electric potential at the
centre of the sphere?

, Q = and Q
4ne, R” 4me R
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. ———— and zero
ne,R*

3. zero and
Zero an e

4. Both electric field and electric potential are zero

Options :

485584143609. 1
485584143610.2
485584143611.3
485584143612. 4

Question Number : 138 Question Id : 48558435903 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Options :

485584143609. 1
485584143610. 2
485584143611. 3
485584143612. 4

Question Number : 139 Question Id : 48558435904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

Four identical capacitors each of capacitance C are arranged as shown in the figure. What is the effective
capacitance between P and Q?

L2
5
, 3¢
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Options :

485584143613. 1
485584143614. 2
485584143615. 3
485584143616. 4

Question Number : 139 Question Id : 48558435904 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Options :

485584143613. 1
485584143614.2
485584143615. 3
485584143616. 4
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Which of the following statements are correct?

A Electric field lines are always perpendicular to equipotential lines.

B. A zero electric field inside a conducting sphere does not mean that the potential gradient 13 also zero
C. The resultant of two electric fields 1s determined by vector addition of the two field strengths

D. If the field lines get closer together at any place, it means that the field strength is decreasing

E. The resultant potential at a point 1s just the sum of the individual potentials.

Choose the correct answer from the options given below:

1. A. C and E only

| ]

.A.Band D only

Lad

.B. C and E only
4. A, Cand D only

Options :

485584143617. 1
485584143618. 2
485584143619.3
485584143620. 4
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Options :
485584143617. 1
485584143618. 2




485584143619. 3
485584143620. 4

Question Number : 141 Question Id : 48558435906 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A P-particle is moving perpendicular to the uniform electric field created by a potential difference of
6 » 10° V across parallel metal plates separated by a vertical distance of 6 em. What is the acceleration of the
beta particle between the plates? (Mass of electron = 9.1 x 10> 1kg)

1.1.76 x 1014 m 2

| ]

. 1.76 x 1018 m 572

1.8 % 10710y 2

[#¥]

4.18% 1012 mg?

Options :

485584143621. 1
485584143622. 2
485584143623.3
485584143624. 4
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Options :

485584143621 1

485584143622.2
485584143623.3



485584143624. 4

Question Number : 142 Question Id : 48558435907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Two wires of copper have lengths L and 2L and cross sectional area 2A and A. respectively. The ratio of their
specific resistance would be-

1. 1:2

| ]

. 1:8
3.1:1
4. 1:4

Options :

485584143625. 1
485584143626. 2
485584143627. 3
485584143628. 4

Question Number : 142 Question Id : 48558435907 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584143625. 1
485584143626. 2
485584143627.3
485584143628. 4

Question Number : 143 Question Id : 48558435908 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

The drift speed of electrons in a conductor is estimated to be only a few mm s~ 1, But on closing a circuit, how
current 1¢ established almost mstantly in an electric circuit?

1. Electrons are accelerated towards the positive end of the conductor while their velocity increases towards
the other end

| ]

. Drift velocity of electrons increases

[¥]

. Electric field is established throughout the circuit with the speed of an electromagnetic wave. causing at
every point local electron drift causing current.

4. The electrons drift towards the negative end’

Options :

485584143629. 1
485584143630. 2
485584143631.3
485584143632. 4
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Options :

485584143629. 1
485584143630. 2
485584143631. 3
485584143632. 4

Question Number : 144 Question Id : 48558435909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Key Value

Comprehension MCQ

Six equal resistances each of 4 £ are connected to form a network as shows in figure. The resistance between
A and B would be:

C

1.28

| )

40

129

L]

4.1/40Q

Options :

485584143633. 1
485584143634. 2
485584143635. 3
485584143636. 4

Question Number : 144 Question Id : 48558435909 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Options :

485584143633. 1
485584143634. 2
485584143635.3
485584143636. 4

Question Number : 145 Question Id : 48558435910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A galvanometer having a resistance of 8 Q 1z shunted by a wire of resistance 2 Q. If the current is 1 A, the part
of it passing through the shunt will be:

1.025A
2.078A
3.02A
4 08A
Options :
485584143637. 1
485584143638.2

485584143639.3
485584143640. 4



Question Number : 145 Question Id : 48558435910 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ
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Options :

485584143637. 1
485584143638. 2
485584143639.3
485584143640. 4

Question Number : 146 Question Id : 48558435911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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If three cells are connected n parallel as shown mn figure. then equivalent emf would be:
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Options :

485584143641. 1
485584143642. 2
485584143643.3
485584143644. 4

Question Number : 146 Question Id : 48558435911 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Options :

485584143641. 1
485584143642. 2
485584143643. 3
485584143644. 4

Question Number : 147 Question Id : 48558435912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Ferromagnetic material core used for transformer must have
1. low permeability and low hysteresis loss
2. low permeability and high hysteresis loss
3. high permeability and low hysteresis loss

4. high permeability and high hysteresis loss




Options :

485584143645. 1
485584143646. 2
485584143647.3
485584143648. 4

Question Number : 147 Question Id : 48558435912 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ
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Options :

485584143645. 1
485584143646. 2
485584143647.3
485584143648. 4

Question Number : 148 Question Id : 48558435913 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

A bar magnet when suspended horizontally and perpendicular to earth's field experiences a torque of
3 » 107* N m. The Magnetic moment of the magnet would be:

(take horizontal component of Earth's magnetic field at the place 0.4 x 10~ T)
1,751

5711}

| ]

3.0.751T1

4.0577T!

Options :
485584143649. 1
485584143650. 2



485584143651. 3
485584143652. 4
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Correct Marks : 5 Wrong Marks : 1
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Options :

485584143649. 1
485584143650. 2
485584143651. 3
485584143652. 4

Question Number : 149 Question Id : 48558435914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following is connected to the coil of the galvanometer, to protect it from possible damages due to
large current ?

1. High resistance wire in parallel
2. Low resistance wire in parallel

. High resistance wire in series

L]

4. Low resistance wire in series

Options :

485584143653. 1
485584143654. 2
485584143655. 3
485584143656. 4



Question Number : 149 Question Id : 48558435914 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

[FrafeRad O fed-dier &1 Husdl 4 o S fHar 9 & sifie uRT ualed - R 8 @id 6 o
a1 o eb |

1. urdehH § 3= UicRIY &1 R
2. rsep H 4 UfeRiY 1 aR
3. 9uiiga & 3= wftRiy &1 dR
4. Joitpa # 1 wfoRiY &1 IR

Options :

485584143653. 1
485584143654. 2
485584143655. 3
485584143656. 4

Question Number : 150 Question Id : 48558435915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
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Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ

If a copper wire carries a direct current. the magnetic field associated with the current would be:

1. Only mside the wire

|

. Only outside the wire
3. Both inside and outside of the wire
4. No magnetic field would exists due to direct current

Options :

485584143657. 1
485584143658. 2
485584143659. 3
485584143660. 4

Question Number : 150 Question Id : 48558435915 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Options :

485584143657. 1
485584143658. 2
485584143659. 3
485584143660. 4

Question Number : 151 Question Id : 48558435916 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Key Value

Comprehension MCQ

A wire 1s bent as shown m figure 1s placed m a uniform field B that emerges from the plane of the paper.
outward as shown. The magnitude of force on the given wire 15 :

)
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4, Zero

Options :

485584143661. 1
485584143662. 2
485584143663. 3
485584143664. 4
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Correct Marks : 5 Wrong Marks : 1
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Options :

485584143661. 1
485584143662. 2
485584143663. 3
485584143664. 4

Question Number : 152 Question Id : 48558435917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :
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Comprehension MCQ

What is the magnetic force acting on a proton (charge +1.6 * 1071°C) moving at an angle of 30° across a
magnetic field of 5.3 x 10 > T at a speed of 3.0 % 10° m 5712

1.1272 x 107°19N

Options :

485584143665. 1
485584143666. 2
485584143667. 3
485584143668. 4

Question Number : 152 Question Id : 48558435917 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
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Key Value
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53%10 2T qHEHIG AT 3.0 x 10° m s~ DI 71d T 30° P BI01 W 1d HId §U UD HicH(charge
+1.6 x 1071°C) W R Jrab g ge 91 g

1.1272 x 107°1°N

13 x10710N

[ ]

3.1.272 x 101N
4.22 % 10716y

Options :

485584143665. 1
485584143666. 2
485584143667. 3
485584143668. 4

Question Number : 153 Question Id : 48558435918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The mutual inductance My, of coil 1 with respect to coil 2:

1. depends on the current passing through the coil

| ]

. increases when the coils are brought nearer

Lad

. M, of coil 2 with respect to the coil 1 1s not same
4. increases when any one coil 1s rotated about its axis

Options :

485584143669. 1
485584143670. 2
485584143671.3
485584143672. 4

Question Number : 153 Question Id : 48558435918 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
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Comprehension MCQ
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Options :

485584143669. 1
485584143670. 2
485584143671. 3
485584143672. 4

Question Number : 154 Question Id : 48558435919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

In a series LCR circuit an ac voltage source 1s connected. When inductor 1s removed from the circuit, the

T
phase difference between the voltage and the current in the circuit is E If capacitor 18 removed from the

cirrcuit instead of inductor, the phase difference 1s again — . What is the power factor of the circuit?
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Options :

485584143673. 1
485584143674. 2
485584143675.3
485584143676. 4

Question Number : 154 Question Id : 48558435919 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584143673. 1
485584143674. 2
485584143675. 3
485584143676. 4

Question Number : 155 Question Id : 48558435920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List I with List IT

LIST1I LIST IT
A |Quality factor of a circuit I .—R:_ .(xl X(.]1]!
e —%
B. |lmpedance in an ac circuit 1L (JL(_'_‘)

C. [Resonant frequency of a LCR circuit | IIL [0.314, W4, sin (2eot)
Lﬂstan_tan—eous power supplied to a IV. e, C R_‘]“ I
capacitor :

Choose the correct answer from the options given below:
1. A-I. B-II. C-III. D-IV
2. A-TLL B-IIIL, C-1, D-IV
3. AT B-IV, C-1, D-I1
4, A-IV, B-1, C-II, D-III
Options :

485584143677. 1
485584143678. 2



485584143679. 3
485584143680. 4

Question Number : 155 Question Id : 48558435920 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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1. A-L. B-II. C-III. D-IV
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CA-IL B-II0, C-1, D-IV
3. AL B-IV, C-1. D-II
4. A-IV, B-I, C-II, D-III

Options :

485584143677. 1
485584143678. 2
485584143679. 3
485584143680. 4

Question Number : 156 Question Id : 48558435921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




What 1s the self inductance of a solenoid of length 50 em, if area of cross section 1s 10 em” and total number
of turns is 6007

1.1.44 x 1074 H

720 x 107%H

-2

L 2.88 x 107%H

LeN]

4,904 x 100%*H

Options :

485584143681. 1
485584143682. 2
485584143683.3
485584143684. 4

Question Number : 156 Question Id : 48558435921 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A IRATDT BT S HIC BT ETHE 10em? TUT BRI BT HHAT 600 §. AT 50 em T TRATIB] B -
Uehed o1 BT 2

1.1.44 x 100°%H

720 x 1007 H

| S

.2.88 x 107*H

L]

4,004 x 100*H

Options :

485584143681. 1
485584143682. 2
485584143683. 3
485584143684. 4

Question Number : 157 Question Id : 48558435922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Choose the correct statements from the following:

A Induced emf opposes any change in the current in a circuit

B. Induced emf m a closed coil can be increased by increasing the number of turns in the coil
C. Varying current in a coil can not induce emf in a neighbouring coil.

D. An LCR circuit has zero impedance at resonant frequency

E. Average power supplied to an inductor over one complete cycle is zero

Choose the correct answer from the options given below:

1. A, C.D and E only

| ]

.B. C and D only
3. A.B and E only
4. C.D and E only

Options :

485584143685. 1
485584143686. 2
485584143687.3
485584143688. 4

Question Number : 157 Question Id : 48558435922 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key

Value

Comprehension

MCQ

fFafafad ¥ 9et ®yF &1 999 S

A. foodft ooy 4 wUiRd [ ard ury & foet f ueR & givad &1 [y Sxar gl
B. fopdll 5= pusdl IR fd.a1.9 1 pugedt & B &1 €& 9 R ¢ Sirdl & |
C. U HUsl § gRadl ¢RI g3R] FHYad! $usdl & fd.d1d & URd 9l &R 9hdi g |

D. WWWWLCR@UﬁWWW%I
E. fob it TR o1 Ueh =ch QT - IR 41 1 ared!

e I B

fFafarad famed & 9 Uet ST & 997 B ;

1. Pad A, C.D 3IRE
. PaAB, C AR D
. Had A, B 3R E
4,994 C, D 3RE

2

5]

Options :
485584143685. 1
485584143686. 2




485584143687. 3
485584143688. 4

Question Number : 158 Question Id : 48558435923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

An alternating voltage V = 140 sin 100 mt 1s connected across a pure resistor of resistance 40 . What 13 the
rms current through the resistor? (Take v2 = 1.4)

1.35A

| S

.2.5A
3.49A
4.01A

Options :

485584143689. 1
485584143690. 2
485584143691. 3
485584143692. 4

Question Number : 158 Question Id : 48558435923 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

40 @ TIRIY & Y& HIaRIY & WY V = 140 sin 100 nt dlecdl D1 GAIreTd foar 7| wieRy 1 wared
rms HRTHT BRI (V2 = 1.4)?

1.35A

| ]

.2.5A
3.49A
4.01A

Options :

485584143689. 1
485584143690. 2
485584143691. 3
485584143692. 4

Question Number : 159 Question Id : 48558435924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A flask contamns Argon and Chlorine i the ratio of 2:1 by mass. The temperature of the mixture 15 27°C. The
ratio of root mean square speed of molecules of two gases will be : (atomic mass of Argon =40 u and
molecular mass of Chlorine = 71 u)

1.1.78
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1.33

2
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Options :

485584143693. 1
485584143694. 2
485584143695. 3
485584143696. 4

Question Number : 159 Question Id : 48558435924 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584143693. 1
485584143694. 2
485584143695. 3
485584143696. 4

Question Number : 160 Question Id : 48558435925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




|Comprehension IMCQ

Which of the following statement 15 not true for the electromagnetic waves?

1. These waves have momentum

| ]

. These waves travel at different speeds in vacuum depending upon their frequency
3. These waves transport energy
4. These waves travel at different speeds in a medium depending upon their frequency.

Options :

485584143697. 1
485584143698. 2
485584143699. 3
485584143700. 4

Question Number : 160 Question Id : 48558435925 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584143697. 1
485584143698. 2
485584143699. 3
485584143700. 4

Question Number : 161 Question Id : 48558435926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Which one of the following cannot be polarised?

1. v -rays

|

. Sound waves
3. Microwaves
4. Ultraviolet rays

Options :

485584143701. 1
485584143702. 2
485584143703. 3
485584143704. 4

Question Number : 161 Question Id : 48558435926 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :
485584143701. 1
485584143702. 2

485584143703. 3
485584143704. 4
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Question Number : 162 Question Id : 48558435927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Choose the correct formula for magnifying power of a sumple microscope from the following

1.|11=1—E_
2.m=l--E
f
. f
im=1-—
d
—1.m:|—£
d

Options :

485584143705. 1
485584143706. 2
485584143707. 3
485584143708. 4

Question Number : 162 Question Id : 48558435927 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584143705. 1
485584143706. 2
485584143707. 3
485584143708. 4

Question Number : 163 Question Id : 48558435928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Light from a pomt source in arr falls on spherical glass surface (n = 1.4 and radius of curvature 20 em). The
distance of light source from the glass surface 1s 150 cm. At what position 1s the image formed?

1. 150 em from glass surface in the direction of incident light

[

. 105 em from glass surface in the direction of mcident light
3. 150 em from glass surface towards light source
4. 105 em from glass surface towards light source

Options :

485584143709. 1
485584143710. 2
485584143711. 3
485584143712. 4

Question Number : 163 Question Id : 48558435928 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584143709. 1
485584143710. 2
485584143711. 3
485584143712. 4

Question Number : 164 Question Id : 48558435929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List I with List IT

LISTI LISTII
Frequency is the characteristics
of
B [n a soap bubble colours are

I. |Due to dispersion of light

II. PMedium of travel of light

" |seen
C. |Wavelength depends on ITT. |Source of light
" : . [Due to interference of
D. |In a prism colours appear V. light

Choose the correct answer from the options given below:
1. A-IIL. B-IL. C-I. D-IV
2. A-TL. B-III, C-IV, D-I

CA-IV. B-IO0L, -1, D-II

L]

4. A-III, B-IV. C-II, D-I

Options :

485584143713. 1
485584143714.2
485584143715. 3
485584143716. 4

Question Number : 164 Question Id : 48558435929 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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1. A-III. B-II. C-1. D-IV
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CA-IL B-IIIL, C-IV, D-I

3. A-IV, B-I1, C-I, D-II

4. A-II1. B-IV, C-I1, D-I



Options :

485584143713. 1
485584143714. 2
485584143715.3
485584143716. 4

Question Number : 165 Question Id : 48558435930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

For a glass prism (4 =+/3), the angle of minimum deviation is equal to the angle of prism. What 1s the angle of

prism?

E.N !u
w|a &~|a o=

Options :

485584143717. 1
485584143718.2
485584143719. 3
485584143720. 4

Question Number : 165 Question Id : 48558435930 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




U B & O (4= 3). TATH faaa v fires & $ivr & RIeR ©.f05T & S0 &1 Hrr TH 82

T
1._
6
T
'_J“_
4
T
3._
3
.
4,ﬂ
3

Options :

485584143717. 1
485584143718.2
485584143719.3
485584143720. 4

Question Number : 166 Question Id : 48558435931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A parallel beam of light of wavelength 500 nm 1s incident normally on a slit of width d. If the distance
between slit and sereen 1s 0.6 m and distance of second order minimum from the centre of the screen 1s
6.0 mm. What 1s the width of the shit?

1. 0.1 mm

| ]

. 0.7 mm

. 0.2 mm

Lad

4. 0.5 mm

Options :

485584143721. 1
485584143722. 2
485584143723.3
485584143724. 4

Question Number : 166 Question Id : 48558435931 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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1. 0.1 mm

| S

0.7 mm

2 1mm
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4. 0.5mm

Options :

485584143721. 1
485584143722. 2
485584143723.3
485584143724. 4

Question Number : 167 Question Id : 48558435932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Two polaroids Py and P, are set m crossed positions. A third polaroid P is placed between the two making an
angle o with the axis passing from the first polaroid Py. In what orientation will the transmitted intensity be
maximum?

!_q
Hla wla o)A

s
o

Options :

485584143725. 1
485584143726. 2
485584143727.3
485584143728. 4

Question Number : 167 Question Id : 48558435932 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ
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Options :

485584143725. 1
485584143726. 2
485584143727.3
485584143728. 4

Question Number : 168 Question Id : 48558435933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following statements are correct?

A Number of photoelectrons emitted per second 1s directly proportional to the intensity of incident
radiation

B. Cut off potential 1s the minimum negative potential given to the plate for which photocurrent becomes
maximuim

C. For a given frequency of the incident radiation, the stopping potential 1s mdependent of 1ts intensity

D. Even for the exceedingly dim incident radiation apparent time lag is ~ 107°s or less

E. Photons are electrically neutral and are not detlected by electric and magnetic fields

Choose the correct answer from the options given below:
1. B and D only
2.A.C.D and E only
3.A.Band E only

4 AB.C.Dand E

Options :

485584143729. 1
485584143730. 2
485584143731.3
485584143732. 4



Question Number : 168 Question Id : 48558435933 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
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Options :

485584143729. 1
485584143730. 2
485584143731.3
485584143732. 4

Question Number : 169 Question Id : 48558435934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A body oscillate with SHM according to equation (SI unit),
x = 10cos (2mt + m/4)
at t= 1.5 s, calculate the speed of the body.

1.44ms!

1

| ]

L22ms”

10ms!

[¥¥]

4. 5mg’!

Options :
485584143733. 1



485584143734.2
485584143735. 3
485584143736. 4

Question Number : 169 Question Id : 48558435934 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

B & TR U fUUS HH SIe Tid & H1 &1 B0 6 | (SI5PR)
x = 10cos (2mt + m/4)
t= 1.5 s, Tl [UUS &I I1d Bl U] BHifow

1.44ms!

2.2ms!

3.10ms!

4. 5mys!

Options :

485584143733. 1
485584143734.2
485584143735.3
485584143736. 4

Question Number : 170 Question Id : 48558435935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

What 1s the de Broglie wavelength associated with an elector accelerated through a potential difference of
144 V?

1. 0.0102 nm

| ]

. 1.022 nm

.0.0102 m

L¥N]

4, 0.102 nm

Options :

485584143737. 1
485584143738. 2
485584143739. 3
485584143740. 4



Question Number : 170 Question Id : 48558435935 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

144 V & fGyara gRI fardt saidel- 3 wiaiia Sl-siwelt a3 ol Far gt

1. 0.0102 nm

[ ]

. 1.022 nm

.0.0102 m

Lad

4, 0.102 nm

Options :

485584143737. 1
485584143738. 2
485584143739. 3
485584143740. 4

Question Number : 171 Question Id : 48558435936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Choose the correct statements from the following:

A. The minimum energy required to free the electron from the ground state of the hydrogen atom 1s 13.6 J

B. The principle quantum number n labels the stationary states in the ascending order of energy

C. Bohr gave the basic idea of discrete energy levels

D. de Broglie hypothesis provided an explanation for Bohr's second postulate for the quantization of angular
momentum of the orbiting electron

E. line spectrum provides useful information about the atomic structure.

Choose the correct answer from the options given below:
1. A, C.D and E only
2. A, B and D only
3.B.C.D and E only

4. A and E only

Options :

485584143741. 1
485584143742.2
485584143743.3



485584143744. 4

Question Number : 171 Question Id : 48558435936 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ
frafead o 9gt HYH BT =984 SIS

A. BTSgIoH TRET] B FHaH ARl I sude Jad B3 & [0 31awdd FAd9 391 13.6 7

B. 391 & ARIG! o0 H g&=

HicH a7 .0 R 3w & SFd Hdi 1

C. §IgX ] G f4aR YR & S 9R Joll Wk THsl 4 fuied 31
D. SI-gil7ell HTYRUN A digx & g8l AR Sl oI Pl T Baitd gaidgi—l ol HIvig Ha7 Sididd

SR

E. T3 WaeH AT IRTHT & aR H TGN I&1 a1 8|
frafeRad fdeedl § 981 STR &1 994 HIeU:

1. $addA. C, D ARE

Pad A, B 3R D

. HaAB. C.D ARE
4. $dd A RE

Options :

485584143741, 1

485584143742, 2

485584143743. 3
485584143744. 4

| S

L]

Question Number : 172 Question Id : 48558435937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

p——=ntv+ A

In this nuclear reaction A 15 a/an:

1. electron

|

. gamma ray
3. positron

4. anti neutrino




Options :

485584143745. 1
485584143746. 2
485584143747.3
485584143748. 4

Question Number : 172 Question Id : 48558435937 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

p——=ntv+ A
=9 AINSE i Uiha § A TS
1. galde A
2. 711 oy
3. Gifere
4. gfa =gfeAt
Options :
485584143745 1
485584143746. 2

485584143747. 3
485584143748. 4

;a_‘LL:U

Question Number : 173 Question Id : 48558435938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The nuelear force 1s:

1. ndependent of the nuclear charge

| )

. are central forces, independent of the spm of the nucleons
3. short range weak force
4. the strong forces between electron and proton bound i a nucleus

Options :

485584143749. 1
485584143750. 2
485584143751. 3
485584143752. 4



Question Number : 173 Question Id : 48558435938 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

iy §d gl
1. T e | Ak S
2. B0 9 § off gaantsii= & goi or Fdk a8 e

3. BH WS gad ad

4. A1y H €f¥d Uil Ud geiaciH & &l & Udd dd

Options :

485584143749. 1
485584143750. 2
485584143751.3
485584143752. 4

Question Number : 174 Question Id : 48558435939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

After 4 hours, — of the initial amount of a certain radioactive isotype remains undecayed. What 1s the half life

of the isotope?

1. 15 min

| ]

. 30 min

.45 min

[¥]

4. 60 min

Options :

485584143753. 1
485584143754. 2
485584143755.3
485584143756. 4

Question Number : 174 Question Id : 48558435939 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

4ﬁ%ﬁium.wmwﬁ$$uﬁf‘%mﬁi a1 4T Sffduled I8 a1 SHIHS $i
Hefarrg =y grik

1. 15 firFe

2,30 1e

3. 45 fiFe

4. 60 T

Options :

485584143753 1
485584143754. 2
485584143755.3
485584143756. 4

Question Number : 175 Question Id : 48558435940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Why do light emitting diodes are preferred over conventional mcandescent low power lamps?

1. High operational voltage and less power

| )

. Short life and ruggedness
3. The bandwidth of emitted light 15 10 nm to 50 nm
4. Warm up time required

Options :

485584143757. 1
485584143758. 2
485584143759.3
485584143760. 4

Question Number : 175 Question Id : 48558435940 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




TPTR] Il SIS B IRARTTA JAH eIt ded ! st Fi mufidar 4 oIt g
1. AP HIERA dleedl 3R HH &Hdl (FF0)d SR
2. %Y 3G UG Hefgd| & BRI
3. IgTod UHTR &1 48 1875 10nm H 50nm B
4. TH EH & oY 99 @1 SaRgsar gidi &

Options :

485584143757. 1
485584143758. 2
485584143759.3
485584143760. 4

Question Number : 176 Question Id : 48558435941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

- - 1013 43 - ; -3
A semiconductor has an electron concentration of 8 » 1012 m ™ and hole concentration of 2 * 10° m™ . The
semiconductor behaves as:

L. n- type semiconductor

| ]

. p - type semiconductor

. intrinsic semiconductor

L]

4. p-1 junction

Options :

485584143761. 1
485584143762. 2
485584143763. 3
485584143764. 4

Question Number : 176 Question Id : 48558435941 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




U 31efaTerd o goiae - WKl § x 1013 m™ qUI A WG 2 « 10° m~ §1 Sid=e® &I B
TAGR Tl &

1. n- YBR & Hd=rasd
2. pUPR & fefETaE
3.9 SreETE®

4. p-n FIY

Options :

485584143761. 1
485584143762. 2
485584143763. 3
485584143764. 4

Question Number : 177 Question Id : 48558435942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The forbidden energy band gap mn conductors, semi conductors and msulators are Eqy Eg, and E3.
respectively. The relation among them 1s

1.Egy > Egy = Egs
2 Eg1=Eg=Egs
3.Eg1 =Egy=Egs
4.Egy <Egy > Egs

Options :

485584143765. 1
485584143766. 2
485584143767.3
485584143768. 4

Question Number : 177 Question Id : 48558435942 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




e, ST Ud DT § Hitg 3ol 60 3RIe HH: Egy Eg, U6 Egs. 8. 5778 TR 95Y -
1. Eg; = Egy > Egs
2. Eg1=Egr = Eqs
3.Eg1 =Egz = Egs
4. Eg1 <Egy > Egs

Options :

485584143765. 1
485584143766. 2
485584143767.3
485584143768. 4

Question Number : 178 Question Id : 48558435943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The truth table for one of the following logic gates 1s given. Identify the logic gate

Output
Input

Y

»—-»--C)D;i-
o =1 ] =1 I #5}

1
1
1
0

1. AND gate

| ]

. NAND gate

L]

. NOR_ gate
4. OR gate

Options :

485584143769. 1
485584143770. 2
485584143771.3
485584143772. 4

Question Number : 178 Question Id : 48558435943 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ

difsre Tic & fere FPafeRad gaam Rl €t 12 & 1@fsis ic &1 yg=u

Cutput
Input
A | B Y
0 | 0 1
0 | 1 1
1| 0 1
T | a 0
1. AND TIc
2. NAND 7
3.NOR T
4. ORTIE
Options :

485584143769. 1
485584143770. 2
485584143771. 3
485584143772. 4

Question Number : 179 Question Id : 48558435944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Match List I with List IT

LISTI LISTII

A |Repeator I. |converts one form of energy into another

E. |Bandwidth II.

information converted in electrical form
and suitable for transmission

A combination of a recerver and a
transmitter

C. |Transducer II1.

portion of the spectrum occupied by the

D. [Signal A% Gionil

Choose the correct answer from the options given below:
1. A-IV, B-III. C-II, D-I
2. A-TIL B-IV. C-1, D-TI

CA-IL B-IIIL C-IV, D-I

L]

4. A-III, B-I1. C-IT. D-IV

Options :

485584143773. 1
485584143774. 2
485584143775. 3
485584143776. 4

Question Number : 179 Question Id : 48558435944 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

I 1 D1 AT 11 ¥ e Bifey

AT 1 T I

EI| I |we ueR 31 39l B gue J uRatdd

qus el | IL | e & Her & o Iyt fagga w9 | ufada
cisgER | 1L |76l ud Sy &1 Yo

Prics IV. | ycfies g1 3ifhdiied WaeH &1 5 U

FFafeiad fdeedi d 9 Hgl IR &l 99 Sl -

1. A-IV, B-1II. C-II, D-I

ofo|w]s

| )

AL B-1V, C-1. D-II

3. A-II. B-1II. C-IV. D-I

4. A-II1. B-1. C-IT. D-IV



Options :

485584143773. 1
485584143774. 2
485584143775.3
485584143776. 4

Question Number : 180 Question Id : 48558435945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A transmitting antenna at the top of a tower has a height 18 m and the height of the receiving antenna 1s 32 m.
What 1s the maximum distance between them for satisfactory communication in line-of-sight mode? Given

radius of earth is 6.4  10%m

1.3341um

| ]

.354m

354 Ian

L]

4, 335m

Options :

485584143777. 1
485584143778. 2
485584143779. 3
485584143780. 4

Question Number : 180 Question Id : 48558435945 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

ot TR T GaRd T &1 $T15 18 m 3R TTe! T Bl $d1% 32 mo | @57 U4 e HIg §
AP T D Ay siftpad gt o gl gedt of A3 6.4 « 10%m

1.3341um

| S

.354m
3.354km

4,335m

Options :

485584143777. 1
485584143778. 2
485584143779.3



485584143780. 4

Question Number : 181 Question Id : 48558435946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Two protons P and Q are placed between two charged plates A and B as shown. then

A B

+ + + + + +
T
|

1. P experiences more force as closer to positive charged plate

[

. Q experiences more force as closer to negative charged plate

L N]

. Both experiences same force towards right hand side
4. Both experience same force towards left hand side

Options :

485584143781. 1
485584143782. 2
485584143783.3
485584143784. 4

Question Number : 181 Question Id : 48558435946 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Z3IT U AR A SR B &1 STafRid ufgal & Ten a1 gief+i p 3R Q T 7MY dl
A B

+ + + + + +
1
|

[

P ISIARId Ul & Toidid D o BT AIHd G
. Q FUNGRIT U2l & oidld {8 aaf BT 3HT fbar
G 81 &Ts 3R U9 a9 1 3Hd $Id ¢
ST €1 a7 3R IHH 96 &7 3gHT BRI 8

[

LIPS

s

Options :

485584143781. 1
485584143782. 2
485584143783.3
485584143784. 4

Question Number : 182 Question Id : 48558435947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Two sitar stings A and B playing a note are slightly out of tune and produces beats of frequency 5 Hz. The
tension in string B 1s slightly increased and beat frequency become 3 Hz. What is the original frequency of B
if frequency of A is 427 Hz.

1.432 Hz

| )

.430 Hz

.424 Hz

Lad

4. 422 Hz

Options :

485584143785. 1
485584143786. 2
485584143787.3
485584143788. 4



Question Number : 182 Question Id : 48558435947 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

AR P12 TR A 3R B 99T & TR $% 9930 81 9l © 3R 5 Hz $1 319 &1 a1d (@) I 8idl o
R B H UIS1 7714 S P T a1d Sqid 3 Hz 51 91 6 | A7 A B 3191d 427 Hz §1 I B ® adid®

H1qfcr =1 gt

1. 432 Hz

| )

.430 Hz

424 Hz

fad

4,422 Hz

Options :

485584143785. 1
485584143786. 2
485584143787. 3
485584143788. 4

Question Number : 183 Question Id : 48558435948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

The electric field vector oscillates according to the equation £ = 4sin[l.3 y+ [i5.4xlﬂﬁ}r]!;,. The equation of

magnetic field vector 1s:

1.§==L33xur“ﬁn[Lav-[54x|nﬁp}f
J.E::4ﬁn[LRy-(54x|n°ﬁ}j
3.§=|33X1U*sm[L8y-{14xuﬁ)q£
4.?::5mn_L3y;(54x|n°ﬁ}j

Options :

485584143789. 1

485584143790, 2

485584143791.3
485584143792. 4

Question Number : 183 Question Id : 48558435948 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

e faqyd & <1 TS THIRT £ = 4sin[ 1.8y +(5.4x10°)¢ 4. & STHR S0 el §1 Traobid & e
! JHIE ¢

1. B=133x m‘“sin[l_x_v H(5.4% m")z]f
2. B= 4sin[| 8y 4 (5.4x|ﬂ(’Jr]f
3. B=1.33x107¢ sin[l.ﬁy (5.4 ID“)!}E
4. E:.ﬁsin:l.x_y - (5_4xm‘-')r}j

Options :

485584143789. 1
485584143790. 2
485584143791. 3
485584143792. 4

Question Number : 184 Question Id : 48558435949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

At what distance should an object be placed from a convex lens of focal length 15 em to obtain a real image
three times the size of the object ?

1. 10 em
2. 20 em
3.40 em
4. 50 em

Options :

485584143793. 1
485584143794. 2
485584143795. 3
485584143796. 4

Question Number : 184 Question Id : 48558435949 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

|Key Value




|Comprehension IMCQ

forafl S o S| Bid gXl 15 cm §. ¥ | fora o1 fha! g1 U= a1 91U s 59 fava & iR &1
<1 T[T aTfa e WiiferE Ui B 9eh?

1. 10 em

[ )

.20 cm

.40 em

[¥5]

4. 50 cm

Options :

485584143793. 1
485584143794. 2
485584143795.3
485584143796. 4

Question Number : 185 Question Id : 48558435950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match Last I with List IT

LISTI LISTII
A Mass of alpha particle| I |1.00727 u
B. Mass of proton II. 4.00260u
C. PMass of neutron III|0.00055 u
D. Mass of electron IV, |1.00866 u

Choose the correct answer from the options given below:
1. A-III., B-1. C-IV, D-II
2. AL B-IV. C-I, D-III
3. A-IL B-1. C-IV, D-III
4. A-1, B-IIT, C-II. D-IV

Options :

485584143797. 1
485584143798. 2
485584143799.3
485584143800. 4

Question Number : 185 Question Id : 48558435950 Question Type : MCQ Option Shuffling : No Is Question Mandatory :
No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ
=t 1 1 ga 11 e iforg
T 1 Tt 11
A. | srep1 wort @ gegHF| Lo [1.00727 u
B. | OielH &1 zo0dH 1L Ja.00260 u
C. | g2 &1 seaaH I1I. [ 0.00055 u
D. |SoRH I GIHA | IV | 1.00866 u

Frgfaiad [deeal O O 98! 3R &1 904 Sl -

1. A-IIIL. B-1. C-IV. D-II

| S

3. A-IT, B-1. C-IV, D-III

4. A-l1. B-1II. C-1II. D-IV

Options :

485584143797. 1
485584143798. 2
485584143799. 3
485584143800. 4

CA-IL B-IV, C-I, D-III




i e @ F g ®?

(A) FH=g f9g y97 & FYATAR 7eA (T) B 9fAQH ded, JHm s H U i ¢§ afe gfaed
TR FFdl &

(B) H=g fag uH F IR 9 WfQY AFR &l € a4 HHhg & "R (7) P FAfe & Ay &
EEHERCIS

(C)  t- 527 & i @z *1 Hifz g sz 78 st

fed 7 ol § 9 war famew 4

(1) %94 (A), (C)

(2) #7@ (B), (C)

(

(3) Fad (A)
(4) Fad (B)
Options :

212807112977. 1
212807112978. 2
212807112979. 3
212807112980. 4



Question Number : 86 Question Id : 21280728246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
[Comprehension [MCQ |

The potential of a uniformly charged spherical shell at a point r/2 from its centre is 5 V. The
potential at its surface is :

Given radius of shell = r)

(
(1) zero
(
(

2) 25V
3) 5V
(4) 10V

Options :

212807112981. 1
212807112982. 2
212807112983. 3
212807112984. 4

Question Number : 86 Question Id : 21280728246 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key 'Value
Comprehension MCQ

g Th-GHH Y § Aaf¥a Maer Eid & e FE /2 g0 W5V 81 9% a8 W98 ¢
(@ &t 59 =)

(1) ==

(2) 25V

3) 5V

(4) 10V
Options :

212807112981. 1
212807112982. 2
212807112983. 3
212807112984. 4

Question Number : 87 Question Id : 21280728247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




The capacitance of capacitor increases when :
(A) its charge increases

(B) its supply voltage decreases

(C) common area of the plates increases

(D) separation between the plates decreases
Choose the correct answer

(1) (A)and (B)

(2) (A) (B) and (O)
(3) (C) and (D)

(4) (A), (B) and (D)
Options :

212807112985. 1

212807112986. 2

212807112987.3
212807112988. 4

Question Number : 87 Question Id : 21280728247 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
Ty i wifiar agdt & 54 :

(A) THH A & & |

(B) THH Bid dleedl Fdl

(C) Tfgsht o1 SyafT= &3 sigan €
gfgmeti & fom =1 gt vt T

Wal ST FT =TI FL |

(1) (A) 3R (B)

(2) (A), (B ¥R (C)
(3) (C) ¥ (D)
4) (A), (B) R (D)
Options :

212807112985. 1
212807112986. 2
212807112987. 3
212807112988. 4

Question Number : 88 Question Id : 21280728248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Two point charges +4 pC and —2 pC are placed at a certain distance in air. They experience an
attractive force F. If they are brought in contact with each other and then separated to the same
distance, the new repulsive force between them will be :

(1) 8F
(2) 4F
(3) F/8
(4) F/4

Options :

212807112989. 1
212807112990. 2
212807112991. 3
212807112992. 4

Question Number : 88 Question Id : 21280728248 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

B AE +4 pC HARX—2 puC =i ag H wh Fiv=d gl W@ 740 g1 9 Teh ARRYl § F ol S99 HLd
21 At 7R T T % Truh B @ ST eI fR s g 1) ster & fea s ot i o st faeesm
EiUE

(1) 8F
(2) 4F
(3) F/8
(4) F/4
Options :

212807112989. 1
212807112990. 2
212807112991. 3
212807112992. 4

Question Number : 89 Question Id : 21280728249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




A spherical conducting shell of inner radius r; and outer radius r, has a charge Q. A charge q is
placed at the centre of the shell. The surface charge density on outer surface of the shell is :

Q+q
411'1'22

Q-q
(2) 4'rrr22

Q+q
dm(ty - 17)

Q-q
(4) 41r(r22 - 112)

Options :

212807112993. 1
212807112994. 2
212807112995. 3
212807112996. 4

Question Number : 89 Question Id : 21280728249 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

e AR AT @idt 1 stiafies B v, q91 el 5531 r, & 99 STE9 Q B T o789 q &1 @ &
&2 H @ T e g W HAER W

Q-+ g
(1) 4:1'.122
Q-gq
(2) 411'1’22
Q+q
O @ - )
A~
(4) 411-(r22 - rlz)

Options :

212807112993. 1
212807112994. 2
212807112995. 3
212807112996. 4

Question Number : 90 Question Id : 21280728250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension IMCQ |

Two charges 5 pC and —2 uC (with no external field) are placed at (—9 cm, 0, 0) and (9 cm, 0, 0)
respectively. The work required to separate the two charges infinitely away from each other is :

(1) —05]

2) 05]
(3) 5]
(4) -5]
Options :

212807112997. 1
212807112998. 2
212807112999. 3
212807113000. 4

Question Number : 90 Question Id : 21280728250 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

B A 5 wC U —2 pC (fom =1 &3 &) =l A9 f6g3fi (—9 em, 0, 0) 92 (9 cm, 0, 0) W Z |
& AR N TF G Y A g4 qF A W H S1aeTE FE F

(1) -05]
(2) 05]
(3) 5]
(4) -5]
Options :

212807112997. 1
212807112998. 2
212807112999. 3
212807113000. 4

Question Number : 91 Question Id : 21280728251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

An infinite line charge produces an electric field of 9x10° N/C at a distance of 20 cm. The linear
charge density will be :

(1) 1073 C/m
2) 1074C/m
3) 1072C/m
4) 1075C/m

Options :

212807113001. 1
212807113002. 2
212807113003. 3
212807113004. 4



Question Number : 91 Question Id : 21280728251 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T 3 F@g @9 20 em 0 W Tk 9x10° N/C 1 fogd &5 3691 ohal 81 {Ed A6 o aa
B

(1) 1073 C/m

2) 104 C/m

3) 1072C/m

(4) 107°C/m

Options :

212807113001. 1
212807113002. 2
212807113003. 3
212807113004. 4

Question Number : 92 Question Id : 21280728252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Which of the following statement is correct for a potentiometer ?
(1) It cannot measure resistance

(2) It cannot measure the capacitance of a capacitor

(3) It cannot measure current

(4) It cannot measure potential difference

Options :

212807113005. 1
212807113006. 2
212807113007. 3
212807113008. 4

Question Number : 92 Question Id : 21280728252 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ
e favemrdt % fau fa 7 4 59 €2

(1) =% Ffeiier &1 "9 7@ Y Feha €

(2) I Henf i enfar &1 o e R g ©
(3) & YW T A & R AT T |

(4) FE fasTeeR 1 A9 & T HHha T

Options :
212807113005. 1
212807113006. 2



212807113007. 3
212807113008. 4

Question Number : 93 Question Id : 21280728253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
Match List - I with List - II.

List - I List - II
(A) Conductance O MBT3A7?
(B) Current density I [M-1L-3T3A2
(C) Specific resistance (m [MOL-2T9AN
(D) Electrical conductivities V) M I1L-2T13 A2

Choose the correct answer from the options given below :
(1) (A)-), B)-(I), (©)-(IV), (D)-(II)
(2)  (AxD, (B)-(ID), (©)-1), (D)-(IV)
(3)  (A)y(UD, B)-(1V), (O-(1D), (D))
4)  (A)»IV), (B)-(ID), (O)-(1), (D)-(1)

Options :

212807113009. 1
212807113010. 2
212807113011. 3
212807113012. 4

Question Number : 93 Question Id : 21280728253 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Tl - [ 1 |1y Gei-11 1 frad |
T - 1 g - 11

(A) =Tt ) [ML3T-3A-2

(B) M o (I) M-1L-3T3A2

() fafere gfads (I) [MOL-2T0 Al
fergdra =mereRan (IV) [M~1L-2T13 A2

e feremedi § | w& S T

1)  (A)-), (B)-(I1), (O)-(IV), (D)-(II)

(2)  (A)-D, (B)-(I), (O)-(I), (D)-(IV)

(3) (A)(ID), (B)-(IV), (O)-(ID), (D)-(I)

4)  (A)XIV), (B)-(I), (C)-(I), (D)-(IT)

Options :
212807113009. 1
212807113010. 2



212807113011. 3
212807113012. 4

Question Number : 94 Question Id : 21280728254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

A bulb of 100 W glows for 6 hours a day. The units of energy consumed in 7 days would be :
(1) 2.4 units
(2) 4.2 units
(3) 600 units
(4) 4200 units

Options :

212807113013. 1
212807113014.2
212807113015. 3
212807113016. 4

Question Number : 94 Question Id : 21280728254 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TS 100 W &1 a¢dl T & H 6 = 9 Wi g €1 7 fei # suaa sl o1 w7 2
(1) 2.4 THE

(2) 4.2 TFT

(3) 600 THE

(4) 4200 TS

Options :

212807113013. 1
212807113014.2
212807113015. 3
212807113016. 4

Question Number : 95 Question Id : 21280728255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Ten capacitors each of 2 uF capacity were arranged in two rows such that first row contains
6 capacitors in series where as the rest were in second row. The equivalent capacitance of the
network is :

(1) ZuF
(2) 20uF
@ FuF
@) ST

Options :

212807113017. 1
212807113018.2
212807113019. 3
212807113020. 4

Question Number : 95 Question Id : 21280728255 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

29 GuifE g &1 o1 2 wF € 1 < ufad § 30 wor =Hafer fem = € % yefa dfa 3 6 genfa
gofera | & IR anfer =1 fgeta dfer o | dsH o1 Togeg aftan @

(1) ZuF
(2) 20uF
(3) 2—54@
@) guF

Options :

212807113017. 1
212807113018. 2
212807113019. 3
212807113020. 4

Question Number : 96 Question Id : 21280728256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Six equal resistances are connected between points P, Q and R as shown in the figure. The net
resistance will be maximum between :

P
. r
Q R
r
(1) Pand Q
(2) Qand R
(3) Pand R

(4) All points will have same resistance

Options :

212807113021. 1
212807113022.2
212807113023. 3
212807113024. 4

Question Number : 96 Question Id : 21280728256 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




F: 9 Ufadiees sl Feemgar fagsdi P, Q SR R & == § Haife fran 71 2 | el iy &= # sifereras
BT :

P
r r
Q R
I
(1) P3RQ
(2) Q@RR
(3) PeRR

(4) |t fogsll W aER gfeady 2|

Options :

212807113021. 1
212807113022. 2
212807113023. 3
212807113024. 4

Question Number : 97 Question Id : 21280728257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The susceptibility (x,,,) and permeability (i) of a perfectly diamagnetic substance are :
(1) xu=-—-1and un=0

(2) Xm=0and p=1

3) xp=1and p=-1

4) xp=1and u=0

Options :

212807113025. 1
212807113026. 2
212807113027. 3
212807113028. 4

Question Number : 97 Question Id : 21280728257 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

|Key Value




[Comprehension IMCQ

e o wiqereen aeid § FraeRsierdr (x,,,) T IR () €
(1) Xm=—13W p=0
(2)  Xp=0 ¥R p=1
(3) Xm=13%R p=-1
(4) xm=1 %R pn=0

Options :

212807113025. 1
212807113026. 2
212807113027. 3
212807113028. 4

Question Number : 98 Question Id : 21280728258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

At a place, the horizontal component of earth’s magnetic field is 4 X 10 ~*T and angle of dip is 60°.
The value of horizontal component of earth’s magnetic field at the equator is :

(1) V2x10*T

(2] BxIi—*T

(3) Zero

(4) 8x1074T
Options :

212807113029. 1
212807113030. 2
212807113031. 3
212807113032. 4

Question Number : 98 Question Id : 21280728258 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Teh ¥ W, Y& 6 Frrhid & 1 Afast g2 4 x 10 74T iR A v 60° 1 fere En w gt &
T &5 1 Afas wew T

1) Vz2x10T
(2} 2sli~4T

(3) Zero
(4) 8x1074T
Options :

212807113029. 1
212807113030. 2
212807113031. 3
212807113032. 4



Question Number : 99 Question Id : 21280728259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Match List - I with List - 1L

List - I List - II

(A) Magnetic dipole moment (I) Weber/m?2

(B) Magnetic permeability (I) Am (Ampere m)
(C) Pole strength (IIT) Henry/m

(D) Magnetic flux density (IV) Am? (Ampere m?)
Choose the correct answer from the options given below :

(1) (A)-(1V), (B)-(I), (O)-(1L), (D)-()

(2) (A1, (B)-AV), (O-(ID), (D))

(3) (A1), (B)-(IV), (C)-(ID), (D)-(I)

(4) (A1, (B)-(D), (O-(I, (D)-(IV)
Options :

212807113033. 1
212807113034.2
212807113035. 3
212807113036. 4

Question Number : 99 Question Id : 21280728259 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

oI - [l it - 1 1 e shif
Tl - 1 Tt - 11

(A) g=eE fgya sl ()  Weber/m?

(B) FShId TR () Am (Ampere m)
(C) Y g (III) Henry/m

(D) TRl T FATH (IV) Am? (Ampere m?)

9= feu e foeredi § 9 W& ST &1 999 Fif9U
(1)  (A)-(1V), (B)-(I), (O)-(I), (D)-()

(2 (A)-1D), (B)-IV), (C)-(III), (D)-()
(3)  (A)-(0), (B}-(IV), (O)-(II), (D)~(III)
(4)  (A)-(1D, (B)-(I), (O-(ID), (D)-(IV)
Options :

212807113033. 1
212807113034.2
212807113035. 3
212807113036. 4



Question Number : 100 Question Id : 21280728260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Ferro-magnetic materials used in transformer core must have :
(1) low permeability and high hysteresis loss

(2) high permeability and low hysteresis loss

(3) high permeability and high hysteresis loss

(4) low permeability and low hysteresis loss

Options :

212807113037. 1
212807113038.2
212807113039. 3
212807113040. 4

Question Number : 100 Question Id : 21280728260 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TrawTR e § e ol gras gere o1 39EnT 2 €, o uy faftea s g
(1) 7= g iR 3= Sifye g™
(2) = TRl SR e Sifes g
(3) o YR SR 3= AT B
(4) 7= g iR e dforeg

Options :

212807113037. 1
212807113038.2
212807113039. 3
212807113040. 4

Question Number : 101 Question Id : 21280728261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

For a long wire carrying a current of 10 A, the magnitude of magnetic field at a point 4 cm away
from it will be :

(1) 4x107°T
[} Bxl09%T

(3) 10T
(4) 5x10=*T
Options :

212807113041. 1
212807113042.2
212807113043. 3



212807113044. 4

Question Number : 101 Question Id : 21280728261 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

T & TR H 10 A &1 91 &, 389 4 cm g0 W fo s fig W grahra &= o1 aimm 2
(1) 4x1073T
(2) 2x10-5T

(3) 107°T
(4) Sx10~5T
Options :

212807113041. 1
212807113042.2
212807113043.3
212807113044. 4

Question Number : 102 Question Id : 21280728262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

_)
A charge of 5 nC moves with a speed of 2 x 109 m/s along the positive y-axis. A magnetic field B

of strength (2? e }?)T exists in space. The magnetic force acting on the charge is :
Fa M
(1) (-20k +104)N
A M
(2)  (20k —10/)N
= A A
(3)  (20k +10i)N

/.\ At
(4)  (10i +5k)N
Options :
212807113045. 1
212807113046.2

212807113047. 3
212807113048. 4

Question Number : 102 Question Id : 21280728262 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




5 uC SEY 2 x 106 m/s I Y HACHF y-318 T I T8 | Teh Frahig &4 B % yarew (2? + ﬁ)T
frafa # &1 1w W Ry g=ea 9e ¢

(1) (—20? + 10?)N
(2) (20}3 ~ 10?)1\1
(3)  (20k +107) N

(4) (10? + 5?) N

Options :

212807113045. 1
212807113046. 2
212807113047. 3
212807113048. 4

Question Number : 103 Question Id : 21280728263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

The circuits where transformers are used :
(1) ac circuits

(2) dc circuits

(3) in both ac circuits and dc circuits

(4) neither in ac circuits nor in dc circuits

Options :

212807113049. 1
212807113050. 2
212807113051. 3
212807113052. 4

Question Number : 103 Question Id : 21280728263 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
iy Sl STwrR S 39 A ¥

(1) ac 99™

(2) dc 9ftoy

(3) THi ac 3R dc URgs &
(4) T ac 3R A E de IRug §

Options :

212807113049. 1
212807113050. 2
212807113051. 3



212807113052. 4

Question Number : 104 Question Id : 21280728264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

The statement that is NOT true about induced emf is :

(1) The induced emf lasts so long as the change in magnetic flux continues

(2) The direction of induced emf is given by Lenz’s law

(3) Whenever the amount of magnetic flux linked with a circuit changes, an emf is induced in
the circuit

(4) Larger the amount of magnetic flux linked with a circuit greater is the emf induced in it

Options :

212807113053. 1
212807113054.2
212807113055.3
212807113056. 4

Question Number : 104 Question Id : 21280728264 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
foeId a8 9 (emf) F TR H STHE FF ¢ ¢

(1) ORE emf e T | @AR TR 1

(2) U@ emf =i fewn &S % 799 (Lenz’s law) ¥ a1 =eian 21

(3) @ gRuy # Frasha YA | 9iEdd & SR 9iqe § URd emf |
(4) Uy % 1Y gree TR AT S ol UG emf 31fere €

Options :

212807113053. 1
212807113054.2
212807113055. 3
212807113056. 4

Question Number : 105 Question Id : 21280728265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




The magnitude of electric current is increasing from A towards B. If there is any induced current
in the loop as shown in the figure, its direction will be :

A\ 4

A B

(1) Clockwise

(2) Anticlockwise

(3)

(4) Can not be predicted

Options :

212807113057. 1
212807113058. 2
212807113059. 3
212807113060. 4

No induced current

Question Number : 105 Question Id : 21280728265 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

forera oy =1 afearo A | B 1 R Faad 71 afe awr (qu) S fas A gt € F 6 i g, @ swet
feem 2t

Y

) =Sl fom faen &

2) =t for fauda feon
) hrE URa gRr T
(4) STHH & M Fehd

Options :

212807113057. 1
212807113058.2
212807113059. 3



212807113060. 4

Question Number : 106 Question Id : 21280728266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A coil having ‘n” turns and resistance ‘R () is connected with a galvanometer of resistance “4R" ().
What is the induced current in the circuit when this combination (coil+galvanometer) is moved in
time t from a magnetic flux ¢4 to ¢, ?

q 2=
o e2- o)
o 2t
st

Options :

212807113061. 1
212807113062. 2
212807113063. 3
212807113064. 4

Question Number : 106 Question Id : 21280728266 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
e Fued foed o T €, SR U 9fady ‘R’ Q § S foh ok fararndier fage ufadie 4R Q § 9 921
BI @ | ST HASH (FUSel+TTaiet) 1 gashd TR ¢, ¥ b, Tt §57 o foru 7fqeier foan smem
1 gy § I N
—n(¢s — dq)
(1) 4Rt
—n(¢2 — d1)
(2) Rt
—n(by — 1)
(3) 5Rt
—($2 — 1)
(4) R
Options :

212807113061. 1
212807113062. 2
212807113063. 3



212807113064. 4

Question Number : 107 Question Id : 21280728267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

An emf of 0.5 V is developed in the secondary coil, when current in primary coil changes from
5.0 A to 2.0 A in 300 milliseconds. The mutual inductance of two coils would be :

(1) 0.02H
(2) 0.3 H
3) 0.01 H
4) 0.05H

Options :

212807113065. 1
212807113066. 2
212807113067. 3
212807113068. 4

Question Number : 107 Question Id : 21280728267 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fgdftareh Fu=ell § 0.5 V &l Tk emf 3c9%1 Bl &, ST8l WA, Fosal H &/ 300 ms § 5.0 A & gRafdd
Y 2.0 A € S &1 ST Fuetadl S i g gnt

(1) 0.02H
2) 0.03 H
(3) 0.01 H
4) 0.05H
Options :

212807113065. 1
212807113066. 2
212807113067. 3
212807113068. 4

Question Number : 108 Question Id : 21280728268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

A series AC circuit has a resistance 8 () and a reactance of 6 . The impedance of the circuit is :
1) 140

2) 100
35
=0

G -

4 70



Options :

212807113069. 1
212807113070. 2
212807113071. 3
212807113072. 4

Question Number : 108 Question Id : 21280728268 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
T i AC uftwe # U 8 O Uil o1 s 6 O 1 ufqend &1 uftaer 1 wiqenn €
(1) 140
2) 100
35
—1
@)
4 79
Options :

212807113069. 1
212807113070. 2
212807113071. 3
212807113072. 4

Question Number : 109 Question Id : 21280728269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
Match List - I with List - IL
List - 1 List - II
(A) Infra red waves (I)  Eye surgery
(B) Microwaves (II) 1nm to 1073 nm
(C) Ultraviolet (IIT) Heat waves
(D) X-rays (IV) Produced by special vaccum tubes

Choose the correct answer from the options given below :

(1) (A)-(1D), (B)-(1), (O-1V), (D)-(I)
(2)  (A)-(D, (B)-(1V), (O)-(D), (D)-(ID)
(

(A)-(
(3)  (AHIV), (B)-(IL), (O)-(1D), (D)-(I)
(4)  (A)-ID), (B)-(0), (O, (D)-(IV)

Options :

212807113073. 1
212807113074. 2
212807113075.3
212807113076. 4

Question Number : 109 Question Id : 21280728269 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value
Comprehension MCQ

T - 1 et - 11 5T
;Eﬁ.I 11

(A) ST adl @ = Tafwa

(B) H&H T () 1nm ¥ 1073 nm

(C) =Tt (1) 79

(D) wEE-fHm (Iv) fovm frata et | 3afea
frefafea d 9 @@ fases &1 =979 X

(
(A)(
(3) (A)-AV), (B
(4) (M)
Options :
212807113073. 1
212807113074. 2

212807113075. 3
212807113076. 4

Question Number : 110 Question Id : 21280728270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Following are the wavelength of some constituents of the electromagnetic spectrum. The wavelength
range that are used in Radar system for Aircraft navigation is :

(A) 1 mm to 700 nm

(B) 01mtolmm

(C) 400 nm to 1 nm

(D) <1073 nm

(E) >1m

Choose the correct answer from the options given below :
(1) (A) and (D) only

(2) (B)only

(3) (C) and (E) only
(4) (C) only
Options :

212807113077. 1
212807113078.2
212807113079. 3
212807113080. 4

Question Number : 110 Question Id : 21280728270 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value
Comprehension MCQ

forera Jaeshia WaH & F5 Uea & qieed 9 § 1 aga o avy & ot RADAR gomedt # qimeed
W(Range)ﬂwmw%:

(A) 1 mm to 700 nm

(B) 0.1 mto1lmm

(C) 400 nm to 1 nm

(

(

D) <10™®nm

E) >1m

frafafaa 9 9 w&t fasey &1 =97 +:1
(1) ad (A) 3R (D)

(2) ad (B)

(3) e (C) ¥R (E)

(4) e ()

Options :

212807113077. 1
212807113078.2
212807113079. 3
212807113080. 4

Question Number : 111 Question Id : 21280728271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

When a ray of light enters from denser medium to rarer medium, its velocity is doubled. The
critical angle for total internal reflection will be :

(1) 60°
(2) 45°
3) 30°
(4) 90°

Options :

212807113081. 1
212807113082. 2
212807113083. 3
212807113084. 4

Question Number : 111 Question Id : 21280728271 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




9 Uk YR o TR gee weay § fae aredm © e Rl |, SEeRT O g |1 S B 9eul SAiafen
e & Ty shifaes =mior &0 .

(1) 60°
(2) 45°
(3) 30°
(4) 90°
Options :

212807113081. 1
212807113082. 2
212807113083. 3
212807113084. 4

Question Number : 112 Question Id : 21280728272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Which of the following is/are responsible for the formation of Rainbow ?
(A) Dispersion of light

(B) Interference of light

(C) Reflection of light

(D) Refraction of light

Choose the correct answer from the options given below :

(1) (B) and (C) only

(2) (A)and (C) only

(3) (A), (C) and (D) only

(4) (A) only

Options :

212807113085. 1
212807113086. 2
212807113087. 3
212807113088. 4

Question Number : 112 Question Id : 21280728272 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




TEUY T T ZTH G B H ST § 2
(A) TR T qRETT
(B) WehIY =1 SHATdhYl
(C) UehTEl T qLEd
(D) IS & ST9E
frfafad § 9 W&t faswrey o1 =9 & -
(1) e (B) ¥R (O)
(2) A (A) 3R (O)
(3) e (A), (O) ¥R (D)
(4) IS (A)
Options :
212807113085. 1
212807113086. 2

212807113087. 3
212807113088. 4

Question Number : 113 Question Id : 21280728273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




The shape of graph between 1/u and 1/v in case of a convex lens is :

¥

B
(1) Tl/v

A —O
1/u
Y
@ i
O — X
1/u
Y
I/VT
(3)
0 — X
1/u
)

Options :

212807113089. 1
212807113090. 2
212807113091. 3
212807113092. 4

Question Number : 113 Question Id : 21280728273 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1



Question Key Details :

Key Value

Comprehension MCQ

A A9 F 1/u AR 1/v F 99 & Ga9 w1 0@ H Fefua fwmm s g

Y
B
o (R
A —O
1/u
}/
@ ]
O — X
1/u
X
1/v
3) T
@) — X
1/u
l/vT
(4)
0 — X
1/u
Options :

212807113089. 1
212807113090. 2
212807113091. 3
212807113092. 4



Question Number : 114 Question Id : 21280728274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

At what speed should a galaxy move with respect to earth so that spectral line of 600.0 nm appears
as 600.6 nm ?

(1) 3x10°ms~!
2y BxI10° mygt
(3) 5x10°ms—1
(4) 5x10°ms!

Options :

212807113093. 1
212807113094. 2
212807113095. 3
212807113096. 4

Question Number : 114 Question Id : 21280728274 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Jedt % | SMHTIFFN it 7Ifd =0 B =feC fF 600.0 nm T Fheged @1 600.6 nm Fdid 21 ?
(1) 3x10°m s~ !
(2) 3x10°ms—!
(3) 5x10°ms~!
(4) 5x10°m s~}

Options :

212807113093. 1
212807113094. 2
212807113095. 3
212807113096. 4

Question Number : 115 Question Id : 21280728275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Two thin lenses of power +3D and —1D are held in contact with each other. Focal length of the
combination would be :

(1) 5m

(2) 50 cm

(3) 10m

(4) 100 cm
Options :

212807113097. 1
212807113098. 2
212807113099. 3



212807113100. 4

Question Number : 115 Question Id : 21280728275 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ
31 T S F AW ¥ 43D 3R — 1D, S R 92 gU Y1 39 HeeH i B g 8
(1) 5m
(2) 50 cm
(3) 10 m
(4) 100 cm
Options :

212807113097. 1
212807113098. 2
212807113099. 3
212807113100. 4

Question Number : 116 Question Id : 21280728276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Let us consider interference between two sources of intensities T and 4I. What will be the intensity
at points where the phase difference is m ?

() I
(2) 51
(3) 91
4) 0
Options :

212807113101. 1
212807113102.2
212807113103. 3
212807113104. 4

Question Number : 116 Question Id : 21280728276 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T 3t S Sl TSRt e 1ae 41 8, SHeh sAfashio 81 11 € | 39 fog W dteran oo Srft STl hefiat = 8 2
(1) I

(2) 5l
(3) 91
4) 0

Options :

212807113101. 1
212807113102.2
212807113103.3



212807113104. 4

Question Number : 117 Question Id : 21280728277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Two polaroid P; and P; are placed such that their pass-axis are mutually perpendicular. Another
polaroid P, is rotated between P, and P,. For what angle 6 between P, and P, the intensity of light
emerging from P; will be maximum ?

il
@ 3
®) 5
4 <

212807113105. 1
212807113106. 2
212807113107. 3
212807113108. 4

Question Number : 117 Question Id : 21280728277 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

QI Yo P, 991 P, ol 56 YR 1@l 71 § fof 3eh1 IIRE 218 T8 @9ad §1 U g8 e P, Sil fo P,
AT P, T 19 YU F W R Py 3R P, & o= fRw @ ¢ & o P, @ frerer aren gemw R e
sAferepeam gt 2

M 3
& 5
®) 7
@
Optons:

212807113105. 1
212807113106. 2
212807113107. 3
212807113108. 4



Question Number : 118 Question Id : 21280728278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The graph showing correct variation of photo current with intensity of incident light :

=
H
3
e E
1) &8
Intensity
of light
=
T
g
e B
2 =3
Intensity
of light
=l
H
3
ek
S &
Intensity
of light
2
B
—&j
U —
g
< 3
(4) A
Intensity
of light
Options :

212807113109. 1
212807113110.2



212807113111.3
212807113112. 4

Question Number : 118 Question Id : 21280728278 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

fou 71U oAt H § F 91 THE-S9d 9N IR afaes YeRre i dierdl & s T8 e ©
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of light
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i
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2
Tt
3
g E
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Intensity
of light

Options :



212807113109. 1
212807113110.2
212807113111. 3
212807113112. 4

Question Number : 119 Question Id : 21280728279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Electron and Photon have same de Broglie wavelength, which of the following is true for their
momentum :

(1) Momentum of electron < momentum of photon
(2) Momentum of electron and photon is zero
(3) Momentum of electron = momentum of photon

(4) Momentum of electron > momentum of photon

Options :

212807113113. 1
212807113114.2
212807113115.3
212807113116. 4

Question Number : 119 Question Id : 21280728279 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

TAHRM 3 BIEH H El-sFdl aiicsd 9 2| 7% a1 & fau Fefafga d A M @ 99 99 2 :
(1) TS 1 HATT < HIH & HaAT

(2) TFH IR WA % G I ¥

(3) TOEH H1 HAT = W H AT

(4) SoiagM %1 HAT > I I Hal

o 1311, 1

212807113114. 2

212807113115.3
212807113116. 4

Question Number : 120 Question Id : 21280728280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Which of the following graph correctly shows the relation between photoelectric current (I) and
wavelength (M) of incident radiation

(]

(1)
A —>
1
)
A —>
(3) I T
AN —>
i
(4) T
AN —>
Options :

212807113117.1
212807113118. 2
212807113119. 3
212807113120. 4

Question Number : 120 Question Id : 21280728280 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ




e feu Tu strer H § e fagga uw (1) @en stfaa faferwe @ qineed (\) A 9@ darw wefifa ©

1]

(1)
A —>
3
(2)
A —>
|
(3) T
A —>
I
(4) T
A —>
Options :

212807113117.1
212807113118.2
212807113119. 3
212807113120. 4

Question Number : 121 Question Id : 21280728281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Consider two different hydrogen atoms. The electron in each atom is in first excited state. According
to Bohr's model, electrons will have :

(1) different energies but the same orbital angular momentum
(2) same energies and the same orbital angular momentum
(3) same energies but different orbital angular momentum

(4) different energies and no orbital angular momentum

Options :

212807113121. 1
212807113122.2
212807113123.3
212807113124. 4

Question Number : 121 Question Id : 21280728281 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

21 TrESeH ], S TR 39 Hom e stewen H ¥ sl Wied & I 4R, oagH % U ¢

(1) fafs= =i o2 a9m wwadfa soiE d@o)

(2) HHM TSl SR THE HEE i Fo |

(3) HEE FEl W fafy= i woig o)

(4) fafs= sl ol = i i gam =8 2
Options :

212807113121. 1
212807113122.2
212807113123. 3
212807113124. 4

Question Number : 122 Question Id : 21280728282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value
Comprehension MCQ

Choose the correct statements :

A) A nuclide is represented as %Z X

B) Nuclids with same number of protons are called isotopes

(
(
(C) a-ray scattering experiments allow determination of the nuclear radius
(D) Nuclids with same number of neutrons are called isotones

(

E) The nuclear force distinguishes between neutron and proton

Choose the correct answer from the options given below :

(1) (A) (B), (), (D) and (E) only
(2) (B), (D) and (E) only

(3)  (B), (C) and (D) only

4) (B) (©), (D) and (E) only



Options :

212807113125. 1
212807113126. 2
212807113127.3
212807113128. 4

Question Number : 122 Question Id : 21280728282 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

TTH 9 9 9 g

(A) geFrEe ST 2 x gr fa@mn i €

(B) —gairze fSrHeh YIS &l §9F HeA 31 39 gHefe FEd 2
(C)  o-Tercur yariforg gt it eveRta = <Rt srarar €1

(D) —gFaEe fred gaM 2M i G 8 39 FHE] FEd T
(E) FI9ehid o S =Jg a9 W H U8 ol €1

T faredi 9 9 981 &1 9949 &L

(1) %= (A), (B), (©), (D) ¥R (E)

(2) & (B), (D) SR (E)

(3) %A@ (B), (O) ¥R (D)

(4) %3 (B), (C), (D) ¥ (E)

Options :

212807113125. 1

212807113126.2

212807113127.3
212807113128. 4

)
)

Question Number : 123 Question Id : 21280728283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




Match List - I with List - IL
List -1 List - II

(A) To slow down fast moving neutrons () Thermal neutrons
(B) A neutron or a proton (I) Fission

(C) Slow neutrons (IITy Moderator

(D) Neutron induced nuclear reaction (IV) Nucleon

Choose the correct answer from the options given below :
(1) (A)-1V), (B)-(II), (O-(), (D)-(I)
(2) (A0, (B)-(IV), (O-(II), (D)-(I)
(3)  (A)-(D), (B)-(), (©)-(1V), (D)-(I)
(4) (AU, (B)-1V), (©)-0), (D)-(ID)

Options :

212807113129. 1
212807113130.2
212807113131. 3
212807113132. 4

Question Number : 123 Question Id : 21280728283 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

- [ 9 et - 11 %l e
Tt - 1 - 1

(A) e w9 | Afaelia =EE w@ fm e s far (@ adE - =eE
(B) I A UIEH () fagved

(C) i =2 () Heeh

(D) =2 ¥ Yfa vk sifufean (IV) ~gFIrEH
i few T foeredl | & W& ST o T h

(1) (A)-(IV), (B)-(IM), (O)-(1), (D)-(I)

(2)  (A)-(D), (B)-(IV), (C)-(II), (D)-(II)

(3)  (A)(ID), (B)-(ID), (©)-IV), (D)-I)

(4)  (A)-D, (B)-(IV), (O)-(I), (D)-(II)

Options :

212807113129. 1
212807113130. 2
212807113131.3
212807113132. 4

Question Number : 124 Question Id : 21280728284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




A radioactive isotope phosphorous-32 has an initial activity 10 pCi and has half life of 14 days.
What is the activity of the source after 42 days ?

(1) 1.25 uCi

(2) 25 pCi
(3) 5 uCi

(4) 0.625 pCi
Options :

212807113133. 1
212807113134.2
212807113135.3
212807113136. 4

Question Number : 124 Question Id : 21280728284 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

e Leftar gaeenfies wERRE-32 &1 JRiE 9ihaar 10 pCi 3R 7917 14 fe7 &1 42 &7 91g &
o Tfshaan == &t ?

(1) 1.25 uCi
(2) 25 pCi
3) 5 uCi

(4)  0.625 pCi
Options :

212807113133. 1
212807113134.2
212807113135.3
212807113136. 4

Question Number : 125 Question Id : 21280728285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

Energy band gap is maximum in :
(1) metals

(2) semi-conductor

(3) super conductor

(4) insulator

Options :

212807113137. 1
212807113138.2
212807113139.3
212807113140. 4

Question Number : 125 Question Id : 21280728285 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key Value

Comprehension MCQ
Tl dwe 19 fohg o sAfyerad €2

(1) wmgd

(2) o1 =wE

(3) SIfd =erh

(4) FEIEHR
Options :

212807113137. 1
212807113138.2
212807113139.3
212807113140. 4

Question Number : 126 Question Id : 21280728286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :

Key Value

Comprehension MCQ

The forbidden energy gaps in conductors, semiconductors and insulators are (Eg)er (Eg)s and
>

(Eg)l respectively, What is the relation among them ?

(1) (Bpe < (Eps < (Ep)
@) (Ey.> (B> Ep)
(B)  (By. < (Ep),> By
(4)  (Bpe=(Eys> [Ey)

Options :

212807113141. 1
212807113142.2
212807113143.3
212807113144. 4

Question Number : 126 Question Id : 21280728286 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

AT, STEETCRT IR Feerhl H afefd Sl SHquet A (Ey),, (Ey)s S (Ey); €1 376 = Hefel 1 8 2

g)s

(D) By < (Bgs < (Bg)y
@ E)>E),> E)
(3) (Eg)c = (Eg)s 2 (Eg)l
(@) (Epe= (Eye> Ep)

Options :

212807113141. 1
212807113142.2
212807113143.3
212807113144. 4

Question Number : 127 Question Id : 21280728287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

Which of the following statements are correct for a transistor action ?

(A) The input resistance depends upon the current I in the transistor

(B) Collector currents is equal to the sum of base current and emitter current
(C) The emitter junction is forward biased

(D) The collector junction is reverse biased

(E) Both the emitter junction as well as the collector junction are forward biased

Choose the correct answer from the options given below :
(1) (A) (B) and (C) only

(2)  (B) (C) and (D) only
(3) (O, (D) and (E) only
(4) (A) and (C) only
Options :

212807113145. 1
212807113146.2
212807113147.3
212807113148. 4

Question Number : 127 Question Id : 21280728287 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Gerrur foran & foru 578 & $F @1 oA g 72

(A) erforex § fraef fady emy 1, W faei o #)

(B) HUESH YR, MR €RT IR ScHSish &R o FRT - BT § 1
(C) TS |y eTufefies smaw 2 2|
(
(

R —

D) Hures af- yyafefve smm g g

E) onur |fy agn guwes af 291 swfefors s 2
= fou U foswredi § 9 9 ST 1 999

(1) & (A), (B) 3R (O)

(2) e (B), (C) ¥R (D)

(3) e (C), (D) 3R (E)

(4) e (A) ¥R (O)

Options :

212807113145. 1
212807113146.2
212807113147.3
212807113148. 4

R



Question Number : 128 Question Id : 21280728288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The logic gate realised using p-n junction diodes in the given figure is :

Ae i

— @

Be -

= %g

Y
®

(I) OR gate

(2) NOT gate
(3) AND gate
(4) NAND gate
Options :

212807113149. 1
212807113150. 2
212807113151.3
212807113152. 4

Question Number : 128 Question Id : 21280728288 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




p-n G4 grEire S foa B 9 fohan T § i i e ama 22

Ae Jer

—o

Be i

o=

(1) OR =

(2) NOT =

(3) AND 2

(4) NAND e
Options :

212807113149. 1
212807113150. 2
212807113151. 3
212807113152. 4

Question Number : 129 Question Id : 21280728289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5§ Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

Which of the following is a transducer ?

(A) Loudspeaker

(B) Amplifier

(C) Rectifier

(D) Microphone

Choose the correct answer from the options given below :
(1) (B) and (C) only

(2) (A), (B) and (D) only

(3) (A) and (B) only

(4) (A) and (D) only

Options :

212807113153. 1
212807113154.2
212807113155.3
212807113156. 4

Question Number : 129 Question Id : 21280728289 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :



Key 'Value

Comprehension MCQ
‘T e i A Fm R

(A) e T

(B) waY®

(C) fe=srl

(D) HIZRITA

== fou T fowredi @ J Wér ST 997 HL ¢
(1) e (B) ¥R (O)

(2) = (A), (B) 3R (D)
(3) e (A) ¥R (B)
(4) HEE (A) IR (D)

Options :

212807113153. 1
212807113154. 2
212807113155.3
212807113156. 4

Question Number : 130 Question Id : 21280728290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

The correct mathematical expression for amplitude modulated wave is :
(1) Asinet

(2) A sine t

(3) (A, +A,sinw,t)sinwt

(4) Asine t+A sino t

Options :

212807113157. 1
212807113158.2
212807113159. 3
212807113160. 4

Question Number : 130 Question Id : 21280728290 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ
A Higere q &1 TEl it 1o g3 ¢
1 A sinw t
2) A, sinwt

(A, + A, sinw  t)sinm t

H_\.fr_‘\f_‘\ﬁ‘_\.
= 02
T v e

Acsmmct 4 Amsmmmt



Options :

212807113157. 1
212807113158. 2
212807113159.3
212807113160. 4

Question Number : 131 Question Id : 21280728291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

A vertical electric field of magnitude 4.9 x10° NC~! just prevents a water droplet of mass 0.1 g
from falling. What is the charge on the droplet ? Take acceleration due to gravity 9.8 ms =2
(1) 20%10-2C
(2) 2.0x1076C
(3) BO%IPC
(4) 5.0%x10°C
Options :
212807113161. 1
212807113162. 2

212807113163.3
212807113164. 4

Question Number : 131 Question Id : 21280728291 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

e IgTHI forefd &5 =1 19 4.9 x 10° NC 1 S 0.1 g 5 &1 g &l A 4 =<1 81 @1 §8 W 3369 #
BIT ? (T @0=9.8 ms ™~ 2)

fj 20%10-2¢

(2) 20x10-¢C

(3) 5.0x10°C

(4) 5.0x10°C

Options :

212807113161. 1
212807113162.2
212807113163. 3
212807113164. 4

Question Number : 132 Question Id : 21280728292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ




Which of the following statements are correct ?

(A) The resistivity of a semiconductor decreases with increasing temperature.
(B) The potentiometer is unaffected by the internal resistance of the source.
(C) Inionic crystals and electrolytic liquids electrons carry the electric current.
(D) Ohm's law fails if V depends on I non-linearly.

(E) Kirchhoff’s rules are used for analysis of electric circuits.

Choose the correct answer from the options given below :

(1) (B), (© and (E) only

(2)  (A), (B), (D) and (E) only

(3) (), (D) and (E) only

(4)  (A), (© and (D) only

Options :

212807113165. 1

212807113166. 2

212807113167. 3

212807113168. 4

Question Number : 132 Question Id : 21280728292 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ

A s T FA FE T 2

(A) avEE H gfig & iy srefemae f giaeesa sed @ |

(B) faswemmdt W wia & otiafie ufadiy &1 #18 q9a 6l uSdl ¥

(C) smafT forteet, Thaiiiees Ball, Seehali Toeld YN 1 9& Ldl o
(D) ‘3ir’ = form o] 721 A ® afe v, T W T w9 § R wa #)
(B) ‘foEre’ foam o1 sweii faga oftny & S 2

A= fou U fawmedi o 9 W& ST 1 994 Hif9U ;

(1) %ﬁa()uaﬂ?()

(2) e (A), (B),() (E)
(3) @ad (C), (D) ¥R (E)
(4) EE (A), (C) 3 (D)
Options :

212807113165. 1
212807113166. 2
212807113167. 3
212807113168. 4

Question Number : 133 Question Id : 21280728293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




For a medium with permittivity (€) and permeability (), the speed of light (v) is given by :

Options :

212807113169. 1
212807113170.2
212807113171. 3
212807113172. 4

Question Number : 133 Question Id : 21280728293 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

TS HiEAH o feau fSreent TUeEdis (e) S IRl (u) o foe wehme fok 7ifd =t (v) =1 foren T 2
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Options :

212807113169. 1
212807113170. 2
212807113171. 3
212807113172. 4

Question Number : 134 Question Id : 21280728294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value

Comprehension MCQ




A parallel beam of monochromatic light of wavelength 460 nm passes through a long slit of
width 0.1 mm. What is the angular divergence in which most of the light is diffracted ?

(1) 23x1072 rad

(2) 4.6x1073 rad

(3) 9.2%1072 rad

(4) 9.2x107° rad

Options :

212807113173. 1
212807113174.2
212807113175.3
212807113176. 4

Question Number : 134 Question Id : 21280728294 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 5 Wrong Marks : 1

Question Key Details :
Key Value
Comprehension MCQ

T 460 nm THTCEA STeT Tk vl Fehmer o1 Al =1 it T 0.1 mm =eE ot ol fordt § Joret 21
IV YEUl (angular divergence) 1 & fSai sifueray wermn &1 faad= gan 2 2

(1) 23%1073 rad

(2) 4.6x1073 rad

(3) 9.2x1073 rad

(4) 9.2%107° rad

Options :

212807113173. 1
212807113174. 2
212807113175.3
212807113176. 4

Question Number : 135 Question Id : 21280728295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : S Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

What is the wavelength of light for the least energetic photon emitted in the Lyman series of the
hydrogen atom spectrum lines ?

(Take h=663x10"3*TJs ;e=3%x10%ms=1 ; e=1.6 1012 C)
(1) 122 nm

(2) 12.2 nm

(3) 1.22 nm

(4) 10.2 nm
Options :

212807113177. 1
212807113178.2
212807113179. 3
212807113180. 4

Question Number : 135 Question Id : 21280728295 Question Type : MCQ Option Shuffling : No Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 5 Wrong Marks : 1
Question Key Details :

Key Value
Comprehension MCQ

el &H Fell dlel il St o BIESIsH T & AHA 40 § IeafSid 1, 39 YehTel a1 aiTaed a1 SR 2
(h=6.63%x10"3Js ; c=3x10® ms~!; e=1.6x10"19 C wifam)

(1) 122 nm

(2) 12.2 nm

(3) 1.22 nm

(4) 10.2 nm
Options :

212807113177. 1
212807113178.2
212807113179.3
212807113180. 4
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